BT [RERNV 7| WiER

BRI 785
B | Dem | Byag | MEs OFH | &8 [OasR R
WAt T AR KIEHT
it | | %
SIS0, 000R/ 1 e (f - @ 1o (i -@® A i (B
Tt - EWY) O mFE W) DG SH24F it HT FLA64F
+ 165.55 nf |4 K & e DB fEDEHAH
50.10  Bp (O @EekgE L s T EEAR
) @%@1% 58.82  nf|[C &kfhavy)-b |L] 2L ofEsE (O AEEAH
{1 2P| 24.84 nf| [0 Zofh L Kz ([ Zofth
%) &% 83.66  nf|( )| BifE, e
g DK 6 I B @RS B VE sk
15 e 61 = 6 b M
RIRLY O 2ot ( )
o HE 6 MY ] fo= 6 M
L] Zofth ( )
FIFIRT H254E L 0 feiE R O 2 ofth ( )
m R Shaw A (LFEH) (] ik - 2B ( L=FEH )
I HoA ] PR H R (/] & D1t ( L= )
Ho I Ll = [uwm kqs—o & K oM TFEH )
. KB rokiE O 5 KE Z DAt ( LEHEF )
;%; Tk TAGE (O Z ol ( THT )
. % A E OkAERY X L1 %n =X (K )%r)
i | - BEE| [ A ] & W & O F [+]
% B 0 A o Z ot
fTEEME | A i H M bk R Z2off ( )
it | Kakey [ Xiksh [7] B - BISCEEAT O SO I TR SRR )
TANA L (Gf) BAREOCEOFE | A NE ) [ 4
M =2 W O A & I H NE ( ) il
W4 ] x5 ( ) [ XF54%
e HEIRER 2.2 km weEl 3.3 km NE| 2.9 km
i 18 IR 0.7 km (7] cew@BE| 2.2 km | ] 2=~ 2.5 km
FE Tk 2.9 km ARl 2.6k =i 2.9 km
CDIT = m oo 1.3 km feEgl 3.2 km | L km
G I km |1 W0E| 3.4 km | L] kn

Frac
HIH

TS O, RERET CNEE BT 5 BT,

C NEFR ORI, S TFCHA T, NER BB RBICRY £, FEOA A= 13 EH B
éégégk@ﬁwﬁﬁﬂmwﬁ%®t%ﬁ%&%ﬂmnm&E@&%ﬁ%@\HEXNﬂXﬁ%@t%@ﬁ
@gégﬁulﬁﬁﬁwﬁﬁﬁﬁf\%ﬁﬁﬁb&&ofwiToit\ﬁ%®%y?yﬁﬁ%%@%ﬁ%
ﬁ%@é%%ih%%&%M@%%ﬁﬁ%éﬂfﬁ%ﬂ%@%ﬁﬁoTmiTo

AP SRR« e L MU KARE IR L1, 1.2 2L




RS 2 5 (5 4 ZRBAFR)
G SEy RIRTHEEZERN 7 B@& T — FQ
(2 & K]

% EBILRE
@ 3 &t BHE Y

s30T
pREE [65 ) L
m T T IS @
o L 66
JIN: FBIE |4 w50
FENRAE :
o @ e
(£19 @,‘Liﬂ‘:l} U=
= R @
ea®

COPHEIRFEBEIFEPTARTERERICIFEZREAL. ABELGHFETY,




